
MATHS

BOOKS - JEEVITH PUBLICATIONS MATHS

(KANNADA ENGLISH)

MOCK QUESTION PAPER - 1

Part A

1. Write the set of possible subsets (power set) of the

set 

Watch Video Solution

A = {1, 2}

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_mbwSaDu5Q152


2. If  find the value of 'x'?

Watch Video Solution

(x + 1, 1) = (3, 1)

3. Convert  into degrees.

Watch Video Solution

( )
e

7π

6

4. Evaluate  when n= 6 and r=2 ?

Watch Video Solution

n !

(n − r) !

5. Find the modulus of  ?(1 − i)

https://dl.doubtnut.com/l/_bAYRaDSsO7jI
https://dl.doubtnut.com/l/_3cDEXLorSXbt
https://dl.doubtnut.com/l/_gPVy38FWomqH
https://dl.doubtnut.com/l/_3Xe0xDYHN2dy


Watch Video Solution

6. If the arithmetic Mean of 8 and 'x' is 20 ,then find 'x' ?

Watch Video Solution

7. Find the slope of the line .

Watch Video Solution

3x − 4y + 10 = 0

8. Evaluate  ?

Watch Video Solution

lim
x → 0

(x sec x)

https://dl.doubtnut.com/l/_3Xe0xDYHN2dy
https://dl.doubtnut.com/l/_Vx7bkcZ3Lp66
https://dl.doubtnut.com/l/_Eyt002uHYpOo
https://dl.doubtnut.com/l/_Eke5TTqsoJrN
https://dl.doubtnut.com/l/_wnYIE3RDZFXV


Part B

9. Write the negation of "For every real number x,x is less

than x +1 . "

Watch Video Solution

10. Describe the sample space for the indicated

experiments 

A coin is tossed 3 times

Watch Video Solution

https://dl.doubtnut.com/l/_wnYIE3RDZFXV
https://dl.doubtnut.com/l/_cssHo0vxToUP


1. If  find 

 ?

Watch Video Solution

A = {1, 2, 3, 4}B = {3, 4, 5, 6}C = {5, 6, 7}

A ∪ (B ∩ C)

2. If X and Y are two sets such that n ( X) =17,n ( Y) =23,

and n  find n

Watch Video Solution

(X ∪ Y ) = 38 (X ∩ Y )

3. Let  find (i) (f + g) x (ii) (fg)

x

Watch Video Solution

f(x) = √x and g(x) = x

https://dl.doubtnut.com/l/_jEn1Yu71EnQr
https://dl.doubtnut.com/l/_wgSJnfrKv8sq
https://dl.doubtnut.com/l/_ESCzyloJkbra


4. Find the radius of the circle in which a central angle of

 intercepts an arc of length 37.4 cm (use )

Watch Video Solution

60∘ π =
22

7

5. If  , x lies in the 3rd Quadrant . Find

the value of : (i) sinx (ii) tanx?

Watch Video Solution

cos x = ( − )
3

5

6. If  prove that  ?

Watch Video Solution

(x + iy) =
a + ib

a − ib
(x2 + y2) = 1

https://dl.doubtnut.com/l/_ESCzyloJkbra
https://dl.doubtnut.com/l/_wkkQMoEoANR1
https://dl.doubtnut.com/l/_JF8NhSnUrt1m
https://dl.doubtnut.com/l/_sHg3UdbvCdCq


7. Solve 5x-3>=3x-5 ? Show the graph of the solution on

number line ?

Watch Video Solution

8. Find the distance between the parallel lines

 and  ?

Watch Video Solution

(3x + 4y + 5 = ) (6x + 8y + 2 = 0)

9. Find the angle between the lines

Watch Video Solution

√3x + y = 1 and x + √3y = 1

https://dl.doubtnut.com/l/_0aaV1nsyMN8z
https://dl.doubtnut.com/l/_t2wFXCeKkQY6
https://dl.doubtnut.com/l/_d5UIN0D1WLin


10. Find the Ratio in which yz plane divides the line

segment joining the points (4,8,10) and (6, 10,-8) ?

Watch Video Solution

11. Evaluate 

Watch Video Solution

lim
x → 2

)
3x2 − x − 10

x2 − 4

12. Write the contrapositive and converse of the

statement. If two lines are parallel, then they do not

intersect in the same plane.

Watch Video Solution

https://dl.doubtnut.com/l/_d5UIN0D1WLin
https://dl.doubtnut.com/l/_bD7fPqUT3VrA
https://dl.doubtnut.com/l/_aFG66wlMEu6X
https://dl.doubtnut.com/l/_rd6dwInqIvx1


Part C

13. The coefficient of variation for a distribution is 60

and standard deviation is 21. Find the arithmetic mean.

Watch Video Solution

14. A dies is thrown . What is the probability of an event

of getting 'a multiple of 3' ?

Watch Video Solution

https://dl.doubtnut.com/l/_rd6dwInqIvx1
https://dl.doubtnut.com/l/_wdoizGwzNxP4
https://dl.doubtnut.com/l/_8uM6s2vCXcHW


1. In a survey of 400 students in a school, 100 were listed

as taking apple juice, 150 as taking orange juice and 75

were listed as taking both apple as well as orange juice.

Find how many students were taking neither apple juice

nor orange juice.

Watch Video Solution

2. Let  Defined a relation R from A

by  . Write its Doman and Range

?

Watch Video Solution

A = {1, 2, 3, 4, 5, 6}

R = {(x, y)y = x + 1}

https://dl.doubtnut.com/l/_8iikvOhkpBIo
https://dl.doubtnut.com/l/_VAy5EOIDqu7g
https://dl.doubtnut.com/l/_P1i8Utbku3d9


3. Solve 

Watch Video Solution

2 cos2 x + 3 sin x = 0

4. Solve 

Watch Video Solution

√2x2 + x + √2 = 0

5. Convert the complex number  into polar

form.

Watch Video Solution

−
16

1 + i√3

https://dl.doubtnut.com/l/_P1i8Utbku3d9
https://dl.doubtnut.com/l/_yTOf8eDxp33K
https://dl.doubtnut.com/l/_Fp6pSGVKsNjs


6. In how many ways can one select a cricket team of

eleven from 17 players in which only 5 players can bowl.If

each cricket team of 11 players must include exactly 4

bowlers

Watch Video Solution

7. Find the middle term in the expansion of 

?

Watch Video Solution

(3 + )
6

x2

6

https://dl.doubtnut.com/l/_sJIafDIPoJk3
https://dl.doubtnut.com/l/_ODNVE90UaLyZ


8. Find the sum of all natural numbers lying between 100

and 1000 , which are multiples of 5.

Watch Video Solution

9. The sum of first three terms of a G.P is  and their

product is 1. Find the common ratio and the terms.

Watch Video Solution

39

10

10. Find the centre and radius of the circle :

 ?

Watch Video Solution

X2 + y2 − 8x + 10y − 12 = 0

https://dl.doubtnut.com/l/_ZD4UsuDxjFB7
https://dl.doubtnut.com/l/_tXh3L1KvKxfC
https://dl.doubtnut.com/l/_hTTc0f6jNGPD


11. Differentiate of  w.r.t. x from first principles

Watch Video Solution

sin x

12. Verify by the method of contradiction that  is

irrational .

Watch Video Solution

√2

13. One card is drawn from a well shufflied deck of 52

cards.If each out come is equally likely, calculate the

probability that card will be 

Not an ace.

https://dl.doubtnut.com/l/_hTTc0f6jNGPD
https://dl.doubtnut.com/l/_wyLVny0DuJGb
https://dl.doubtnut.com/l/_DZslvZBZFRnI
https://dl.doubtnut.com/l/_9pw5GYSwiDhy


Part D

Watch Video Solution

14. A fair die is thrown . Describe the following events .

(i) A : a number is less than 7
(ii) B : a number is greater

than 7
(iii) C : a multiple of 3

Watch Video Solution

1. Define an identity function . Draw the graph of identify

function and write Domain and Ranges ?

Watch Video Solution

https://dl.doubtnut.com/l/_9pw5GYSwiDhy
https://dl.doubtnut.com/l/_g5cWIj7xOD7M
https://dl.doubtnut.com/l/_zk2MfqshpGET


2. Prove that

 ?

Watch Video Solution

= tan 6x
sin 9x + sin 7x + sin 3x + sin 5x

cos 9x + cos 7x + cos 3x + cos 5x

3. 

Watch Video Solution

13 + 23 + 33 + …………. + n3 = ∀n ∈ N.
n2(n + 1)

2

4

4. Solve graphically

Watch Video Solution

2x + y ≥ 4, x + y ≤ 3, 2x − 3y ≤ 6x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_zk2MfqshpGET
https://dl.doubtnut.com/l/_sTNQccVOKdrH
https://dl.doubtnut.com/l/_c3s0oWmMQVXh
https://dl.doubtnut.com/l/_vsDPPtVJlMhy


5. How many words, with or without meaning can be

made from the letters of the word MONDAY, assuming

that no letter is repeated, if. 

(i) 4 leters are used at a time, 

(ii) all letters are used at a time 

(iii) all letters are used but first letter is a vowel ?

Watch Video Solution

6. State and prove Bionomial theorem for any positive

integer n.

Watch Video Solution

https://dl.doubtnut.com/l/_vsDPPtVJlMhy
https://dl.doubtnut.com/l/_WvA7QfC0WJZz
https://dl.doubtnut.com/l/_5yUuYEDWmQQf


7. Derive the equation of a straight line having the

intercepts 'a' & 'b' on the X ane Y-axes respectively.

Hence find the equation of the line intercepts -3 and 2

on the X and Y-axes respectively.

Watch Video Solution

8. Derive the formula to find the co-ordinates of a point

which divide the line joining the points 

and internally in the ratio .

Watch Video Solution

A(x1, y1, z1)

B(x2, y2, z2) m : n

https://dl.doubtnut.com/l/_5yUuYEDWmQQf
https://dl.doubtnut.com/l/_64YE4ho8VlE5
https://dl.doubtnut.com/l/_fwSnTozsPm8C


Part E

9. Prove that  ?

Watch Video Solution

lim
x → 0

( = 1)
sin x

x

10. Find the Mean deviation from the mean for the

following data ? 

Watch Video Solution

https://dl.doubtnut.com/l/_NfreHzlorZ9w
https://dl.doubtnut.com/l/_txnsFop8zcEt


1. (a)Derive geometrically that

.Hence deduce the

valueof 

Watch Video Solution

cos(x + y) = cos x cos y − sin x sin y

cos 75∘

2. Find the sum first 'n' terms of the series

 ?

Watch Video Solution

(3 + 7 + 13 + 21 + 31 + . . )

3. Derive the equation of the ellipse in the form

.+ = 1
x2

a2

y2

b2

https://dl.doubtnut.com/l/_IOncE0JJtffu
https://dl.doubtnut.com/l/_9oeZr26oRKJD
https://dl.doubtnut.com/l/_CWUhSQ6Tx8kY


Watch Video Solution

4. (b) Find the derivative of  with respect to

x.

Watch Video Solution

x5 − cos x

sin x

https://dl.doubtnut.com/l/_CWUhSQ6Tx8kY
https://dl.doubtnut.com/l/_QyJCLlVURgCi

